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2N

S
Y HHY2AAHI(HSD)
chel: Ol =AY chelE
SA - O(SIH) - o . By &k oy e =2
O2223 2 HA 50,000& 123 600
202 O4dl 41,610 42,120 A510
01 3L 41,610 42,120 A510
OFA2E JI2HRFA Y| 30,240,000 30,240
O= 204 dl 75,800 308 x5 11,370
=M Es 268,455 245,426 23,029
2hAl St 104,654 86,793 17,861
dII, =AIE2 XNEAR0 104,654 86,793 17,861
101 QI24H| 10,184 9,053 1,131
10 JIZtH22AHSES 10,184 9,053 1,131
OXZM datTtg 28 12 30,9003 »2& 150 9,270
o4tz 9,270,000& +0.0985 914
201 LBt 62,735 54,115 8,620
01 AtR2teld 18,985 19,115 A130
Ooget=8Hl 17,725
—NEA 288 & el 2 140,000& *20 % 2,800
— XA DXN 2 75,000& x100F A 7,500
— XA &88 DKTE EYH 2 495,000 *3CH =54 7,425
o294 1,260
—XN&A &2RAs 2+ 70,000% 23] x9H 1,260
02 324l 43,750 35,000 8,750
Os22= 2 HA 43,750
— XA DXAH Z2SUH(SHLR) 1,750& x25,000A 43,750
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S HR

HH: GEAES

el XA £t (ctel &
S B HRAEH) - MRAY - B 0 &t o4 e {InE=FT

202 (4| 12,000 12,000 0

01 =2UWabl 12,000 12,000 0
OXZM MIE S XIAA 20,0003 x4ZF 150 12,000

403 XXM SAE201& 19,735 11,625 8,110

02 ZJ/2SOICHSTH & AFS H 19,735 11,625 8,110
OXYA T2 X2l 19,735,000& 14 19,735

§F - 2HME = 7,500 5,000 2,500

MHISZEA &Al 7,500 5,000 2,500

202 Oidl 4,000 3,000 1,000

01 LAY 4,000 3,000 1,000
OZ2AHl MSEA K] 20,0003 x5H *403| 4,000

203 LRF&Hl 2,500 2,000 500

03 AIMFAAL =LY 2,500 2,000 500
OER Y =2 Mgz gRF&| 20,0003 x5 x253] 2,500

303 Za= 1,000 0 1,000

01 Z&3 1,000 0 1,000
OEF =52 N3gd= I 20,000,000& +0.05 1,000

ANgA NSOHMHE = 25,458 29,096 23,638

KAl BIA, 22X LHEL 25,458 29,096 23,638

101 124 b| 25,458 29,096 A3,638

10 JIZtNZ2Z2NSE+ 25,458 29,096 23,638
OXZA HIA NS CHAF & Marglsd o129 30,9003 x5H 150 23,175




A HEH

HH: TFEWREE

&2 XA NSHAHE = (el &)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
o4l 2= 23,175,000& *0.0985 2,283
2FA A& 78,203 73,927 4,276
IHEFEIHA AFE, SAl 72,953 67,927 5,026
101 QI24H| 13,578 12,932 646
10 JIZtH22AHSES 13,578 12,932 646
OMg =& ELJA 22 30,9003 10 x40 12,360
OZIN Bh=¥=1 12,360,000& *0.0985 1,218
201 YB3 55,375 51,495 3,880
01 AtR2teld 46,950 43,670 3,280
Ooget=8Hl 44,290
—HE=EIIA S SN2 7Y 75,000% #3082 A 2,250
—HE AR & M4FXZA QY] 50& *40, 0000H 2,000
—FHSIE & MANE" D8Z2E EY Y 520,000 »2H 1,040
—HEFEIA S22 13,000= *6,000% *50/100 39,000
o294 1,820
—SSEIREE 2EE 70,0003 x13% *23] 1,820
O=gt| 840
—HE =S JIAZAL 2 AHE 7,000 *3H «40 840
02 232944l 8,425 7,825 600
OZ232= ¥ MAl 6,625
—JHE= 2SN =2 LS 250& *13,000= *50/100 1,625
—MAM DXAMN 2SS 20,00021%250& 5,000
OAE EHI KXY 1,800




S HR

HH: TFEWREE

& ERA M 22 CEREE
SA-ZBH-SA(SAH) - NRAY - BE= Of] AF K gggﬁ HlwS2
—JHE=8 T T2 RAZH 450,000 4= | 1,800
202 044l 4,000 3,500 500
01 =LHOIbI 4,000 3,500 500
OMNE=HSEY XA 4,000,000& 4,000
THAHA S 20t 5,250 6,000 AT50
201 et 5,250 6,000 AT50
01 AtR2cibl 5,250 6,000 AT50
Ogtt==ZH| 5,250
—MAA(EXZ) DXNAFL 75,0003 408 A 3,000
—MAA(H=S2) DXNAFY 75,000 »158 A 1,125
—MLAH(F=2) DXNAPL 75,000 =158 A 1,125
KNEA(2) &= 52,640 50,610 2,030
A2 M1 52,640 50,610 2,030
101 el 8,147 7,760 387
10 JIZH22NSES 8,147 7,760 387
OMEANE=gs ¥ MANSELARY 30,9003 x2& 202 x6 2 7,416
O4li2E = 7,416,600 x0.0985 731
201 et 18,213 17,170 1,043
01 AtR2cibl 16,725 15,620 1,105
Ogtt==2H| 14,485
—83EER #¢ 50,0003 x2A 100
—dHENLREeIIL & 22 MA 50,000 * 13l 23] 1,300
—HSEF)DIAALEE 2SE7L 50& %50, 0000H 2,500




S HR

M NEHEE
X

ool XNgA(2) &= (el &)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

—XZAMME DAL 75,000% x50 A 3,750
— A2+ DMLY 75,0003 258 A 1,875
—Hg2NME"E & Z2EJERIXTY 205,000 *3CH *4 4 2,460
—NFHMESE DAY 75,0003 208+ A 1,500
—20az === 100,000& =104 1,000
o2d+¢ 560
—JIRAMRARE AT 70,0003 x4 Z +23| 560
Or=1=i:1 1,680
— XA (M=) Eel L Mgz e 7,000 «4H <5« 123 1,680

02 232944l 1,488 1,550 A62
OdgdeE2s SISER 1,750& 60024 1,050
OLRSE(Zr)E UYL EX7Y 1,750& 25021 438

202 04| 7,080 6,480 600

01 2LHAHI 7,080 6,480 600
OMEME=ZSR F& 20,0003 x2H x53| 123 2,400
OZAMYAN E=2= 30,000& x2H x53| x 123 3,600
OgHAE= =80l 30,000% x1&H+33|x 123 1,080

3083 Z&= 8,200 9,200 A 1,000

01 ZA&3 8,200 9,200 A 1,000
OZAMMgd FZaz 120,000, 000& *0.05 6,000
OXNLMHMENE = S=SEHAE 2,200
—14 1,000,000& =104 S ™ 1,000
—2% 700,000+ 11 SH 700
—3% 500,000& 10 &S 500
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S HR

g2 A= ES
X

crel: Xl AI(2)) B (2 e)
SA B SA(SH) - MBAY - BES 0 &2 e ==l
403 AHXISHSXH=01E 11,000 10,000 1,000
02 SII2SOICHEtH &AL I 11,000 10,000 1,000
OMe+=g daZ2H SN2l 11,000,000& =1 11,000
SIHEAM EE 96,737 93,046 3,691
Sgs AKX 73,363 62,380 10,983
SSF0AH 7,890 7,640 250
201 e 4,290 4,140 150
01 AR 2eldl 4,290 4,140 150
Ogt=2H| 3,030
—LctEH 0182 10,000& 152 «12& 1,800
—Z2ED| JtECIX 7L 205,000& 64 1,230
osg4g 1,260
—Hayof s 2Ee-E 70,000 32| x6& 1,260
202 O4dl 3,600 2,500 1,100
01 =UW0oibl 3,600 2,500 1,100
O=3 70 A XA =& 0] 30,0003 x2& 5«12 3,600
AE2el 30,063 17,820 12,243
101 1A 4] 8,147 0 8,147
10 JIZH22NsSEs 8,147 0 8,147
O3 AHE datgdsd o2 30,9003 x2& 202 x62 7,416
OZIN k== 7,416,000 x0.0985 731
201 gl 19,716 16,820 2,896
01 AtR2teld 14,716 13,820 896




S HR

HE: G HEN =Y

el FEe A (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

Ooget=8Hl 8,248
— 3 HZ LA QI 40,000% x2Z *802 6,400
— D ED| JtECXNTY 198,000 *3CH x2A E 1,188
—SlAHZZHY A2 S0l 220,000 *34 660
o294 4,200
—MMESZ L FARA S 70,000% x20 x3H 4,200
O=gt| 2,268
—2/HBAN & AHHNFEC 7,000 *3H 0L 12 2,268

02 232944l 5,000 3,000 2,000
OA& &8l |XIbl 5,000
—SAEZZOY KRAES=l 5,000, 000& 1 5,000

202 Oidl 1,200 1,000 200

01 =LHHHI 1,200 1,000 200
OMEHZ L SHZL SSEHS 30,0003 x2EH 10 #22 1,200

203 HRF&H| 1,000 0 1,000

03 AHMFAHRF A 1,000 0 1,000
O3AHZ4 & ME2E YR 20,0003 10 +53] 1,000

SAHHS & Y 35,410 36,920 21,510

201 Letgd] 33,010 34,920 21,910

01 AtR2teld 33,010 34,920 A1,910
Ooget=&Hl 33,010
—UctEH Ol8x2 10,0003 2024 122 2,400
—ANEIBMIANEBE =2 2,500,000 121+ 123 30,000




FA:
X XH -
o Tt

ool

e
SR 2
S2s slHe

m

40
I
{0

SN BB O (SH) - MRAY - HES Akl e =
—HsARHANLE 2L 100, 000& x2A 200
—ZeglE) EY7RY 205, 0003 *2J4 410
202 O4dl 2,400 2,000 400
01 2Uoibl 2,400 2,000 400
OSAES A0 20,000 x2H x5 x 123 2,400
SA2I| 3AHH™2 14,800 18,500 A3,700
MEEOMN &2t 14,800 18,500 A3,700
201 LBt24| 12,400 16,500 24,100
01 At 2teld] 12,400 16,500 A4,100
Ooget=8Hl 12,400
—SA2)| 2I|E FAFZE 22 1,500,000& 4= J| 6,000
—MREIM L2 16,000& 2005 3,200
—MREDAM HIHe2t 16,0002 *2005 3,200
202 O4dl 2,400 2,000 400
01 U0t 2,400 2,000 400
OEAIZ HluAs ¥ EEZR 30,0003 x2H 23| x 12 1,440
O3 A Hel Xl & 20,0003 x2H 25| x 12 960
SAAMTEHY 24 el 8,574 12,166 A 3,592
Z &t 3,000 3,000 0
202 O4dl 3,000 3,000 0
01 2UWobl 3,000 3,000 0
O E&E9 ST AN 20,0003 x3E 50 3,000
253 0l 5,574 9,166 A 3,592




S HR

2 HEAN =E
|

el DOIANRABY HEA BN (el de)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

101 el H| 4,074 6,466 A2,392

10 JIZAH22NASES 4,074 6,466 N2,392
O24 & SIHMUTNZYS R Y 30,9003 x 12202 62 3,708
OZIN k= ¥=1 3,708,000& +0.0985 366

201 LBt 3| 1,500 2,700 A 1,200

02 2244 1,500 1,500 0
OA& EHHI KXY 1,500
—BAaMETZ ) S E ] 1,500, 000& 1 1,500

T &k2ke| 703,709 993,563 N 289,854
L= 50,000
s 653,709

EAb2tel 479,945 535,993 A56,048
= 50,000
= 429,945

EAtEE &l 329,944 274,703 55,241

201 et 326,584 266,470 60,114

01 AtR2teld] 17,740 17,440 300
Ooget=gHl 17,140
—gXA FRY L AE) 50,0002 %103l 500
—dAN22E 2BF 2L 80,000& »9&+12& 8,640
— SN FY 20,0003 100 =128 2,400
—EAEA 500,000& *62l 3,000
—=283 F& 750,000& »23l 1,500
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A HE
A THekztel

el EAr2el CEREE

. CHRI () - NI A

22
J2

0z

o

[P}
e

for

=5

fU

|

b B
c Y oog
=

T
0
oY

o o
02

o
02
4
4
il

O
N O T 1)
S ML o0& HU
B 2 on e ¢
09 o Jx o (U
e
Hu(;%_io
D
10
o 4
°

N

OAIE ZHIS X

0

100, 000& *30 32
200,000& 13}

100,000& »3& »2&

8,000,000 *1274 &
900,000& x12&

30,132,000& = 110%
32,706,000 *120%
600,000 *1JH &
500,000 *1JH &
3,000,000 x13]
200,000& 13}
250,000 1200 &
500,000& 1200 2

250,000& 1504
250,000& 90

1,600 «5CH x20L+90
1,600 10CH*10L*90 L

900
200
600
600

306,344
192,494

96,000
10,800
72,39%
33,146
39,248
600
500
3,000
200
3,000
6,000
55,050
3,750
22,500
28,800
14,400
14,400
58,800
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A W2
A THekztel

ool " ALEE (el m el
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

—EAMAEE RAE= 5,000,000& *23| 10,000
-2 2 A 3,500,000 13l 3,500
—L=:A%0 UM € A 50,0003 304 1,500
—Roigtdz (28,8 ,2E&1) 3,000,000& =123 36,000
—d2HIOE RANESZ 50,000& 1201 & 600
— &I 2l 100,000& «12& 1,200
=8 eSS AME= 200, 000& 1274 = 2,400
—ZtAb2 el ] 300,000 1200 & 3,600

03 &Ar2Zl 2,500 0 2,500
O2d8&2 IJtE NHEs SLUE At 50,000& x50 13| 2,500

202 (4| 3,360 3,000 360

01 2LHAHI 3,360 3,000 360
OFA=X 22l Hdl 20,000 »2H+7L 1204 = 3,360

A ARE JHISA 150,001 40,000 110,001
& 50,000
= 100,001

401 Al UYL= 150,001 40,000 110,001
& 50,000
= 100,001

01 AIZHI 148,932 40,000 108,932
O=d ¥ SHIAMN L27E JHISAL 10,000,000& x5 50,000
OZEMUH =25 £ RES LEOLH 98,932,000& * 14! 98,932
& 50,000
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A W2
A THekztel

ool " ALEE (el m el
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

i 48,932

03 A4S0 1,069 0 1,069
OZEMUH =5 ¥ RS LEOWH SO 98,932,000:& *1.08/100 1,069

=3 ¥ xzel 208,210 446,270 A 238,060

=3 ¥ g7 57,500 304,500 A247,000

405 AH&HFESHI 57,500 304,500 A247,000

01 T ESEFHSHI 57,500 304,500 A247,000
O=xgud ¢ dr7e 16,000
—stE2aE 16,000,000 * 1 CH 16,000
OLFEN=AD DA7 3,500, 000 *3CH 10,500
O2d & 88 L2AREI| M- 250,000 »4Z+104 10,000
O8d% =) WX+ 3,000, 000& «5CH 15,000
O=3:Met2e| LI (EHSE) 6,000,000& = 1CH 6,000

g sA2e 150,710 141,770 8,940

201 etEd] 134,510 129,770 4,740

01 AFS2cldl 4,200 4,500 A300
Oget=EZH| 4,200
—UEE2 S¥E JHEFY 50,000& x5&+12& 3,000
—gEE === 300,000& 43 1,200

02 232944l 130,310 125,270 5,040
OZ232= ¥ MAl 13,010
— XS XHAl 90,0003 = 19CH 1,710
—NESi BEE= 10,280
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T B
PSR P el
&t 23 & E2a chol /Mg
CERI(BIH) - NIRAY - A S Akl e =
A== 360, 0003 »2CH 720
Hass 600, 0002 *1CH 600
SESE 640,000 »3CH 1,920
tHass 720,000& = 1CH 720
EAR=Rel = 300,000 = 1CH 300
B 340,000& *5CH 1,700
tHelst= 720,000& x6CH 4,320
— A= SEIMNERES 60,0002 *17CH* 12| 1,020
OXtghd Bl 117,300
— RS ¥ ZUlbl 115,500
E=a=1 4,000, 0002 *2CH 8,000
Hass 8,000,000 = 1CH 8,000
S8sE 3,500,000 *3CH 10,500
-tEse 13,000,000 = 1CH 13,000
A2E3= 3,000,000 *1CH 3,000
e 5,000,000 *5CH 25,000
tHeet=2 8,000, 000 6CH 48,000
— XH&E M XY 15,000& *22| *5CH =123 1,800
202 O4dl 16,200 12,000 4,200
01 =LHNHI 16,200 12,000 4,200
OxXgdEH & )88 2 10,0002 x9H 152 x 123 16,200
=, 5% Makatg| 15,554 11,300 4,254
229 WAz 15,554 11,300 4,254
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SA: M

=E
&t 2 5 Marzte| chel: ®9l)
SA B Sl (31H) - o - E A Akl e =
101 QI24H| 4,074 0 4,074
10 JIZtHZ2Z2XNHSEs 4,074 0 4,074
O3S M Mtz o2y 30,9003 x1H %120 3,708
OZIN k= ¥=1 3,708,000& *0.0985 366
201 LBt 3| 7,880 7,900 A20
01 At 2teld] 7,880 7,900 A20
Ooget=8Hl 5,430
—IEFME 2dE=Z 100, 000& »20Z Xl 2,000
—IZRMY BEEE =2 200, 000& =10 X 2,000
—222d =USA 7Y 2,000& x100E X 200
—JtECIN & MAMLAREAY 205,000& 35 +22| 1,230
OF=1=i:] 2,450
— =227 M HEHZAL 24| 7,000& x5 »70 2,450
202 O4dl 3,600 3,400 200
01 =LHNHI 3,600 3,400 200
O=3=Mek 22|ty 20,0003 x3H x5 x 12 3,600
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